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’ 100kN/mM%#BZ 5% -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
s 1.00{ 0.00 ~ 6.64 83.78| #h L4t |0.00 ~ 6.64| 1.59 8.53 s 1.00f 500 ~ 8.67 83.78| =nLst | 500 ~ 8.67| 1.59 8.53
9 100kN/m##8 %% 1.00{0.00 ~ 1.18 117.87|3m%x#B25 -~ = = —| 100kN/mM%#8Z % 1.00{ 10.54 ~ 14.21 117.87|3m%Ex{B25 =l ~ - - =
s 1.00{1.18 ~ 8.97 100.00f Zhki4t |0.00 ~ 8.97| 222 11.85 s 1.00f 5.00 ~ 10.54 100.00f Zhlst | 5.00 ~ 1421 2.22 11.85
3 100kN/m##8 %% 1.00{ 0.00 ~ 255 140.04| 3m%*x#B2 5 -~ = = —| 100kN/mM%#2Z % 1.00{ 10.55 ~ 22.42 140.04| 3m%x#B 25 =l ~ - - =
s 1.00] 2.55 ~ 10.34 100.00f Z=hList | 0.00 ~ 10.34| 2.67 14.26 s 1.00f 5.00 ~ 10.55 100.00f Zhl4t | 5.00 ~ 22.42| 2.67 14.26
4 100kN/m##8 %% 1.00]0.00 ~ 2.61 141.02| 3m%x#B2 5 -~ = = —| 100kN/mM%#2Z % 1.00{ 10.53 ~ 22.21 141.02| 3m%x#B25 =l ~ - - =
s 1.00] 2.61 ~ 10.39 100.00f Z=hkist | 0.00 ~ 10.39] 2.72 14.55 s 1.00f 5.00 ~ 10.53 100.00f Zhlst | 5.00 ~ 2221 2.72 14.55
5 100kN/m##8 %% 1.00]0.00 ~ 2.61 141.08| 3m%x#B2 5% -~ = = —| 100kN/mM%#BZ % 1.00{ 10.55 ~ 22.01 141.08| 3m%x#B 25 =l ~ - - =
s 1.00| 2.61 ~ 10.40 100.00f Z=hkist | 0.00 ~ 10.40| 2.75 14.69 s 1.00f 5.00 ~ 10.55 100.00f Zhl4t | 5.00 ~ 22.01| 2.75 14.69
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~ |
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